
1) 4% of 32

Answer: ____________

2)
19  Find Volume of 
               19       Cylinder 

Answer: ____________

3) 38% of 47

Answer: ____________

4) (5 x 1-6) + (9 x 32)

Answer: ____________

5) (-320) ÷ (-20)

Answer: ____________

6) Solve by factorising 
j2 + 6j + 9 = 0

Answer: ____________

7) 102 ÷ 8.5

Answer: ____________

8) 98 - 70

Answer: ____________

9) Find the mean of the following set of data:

19, 0.7, 1, 0

Answer: ____________

10) Convert the following fraction into a 
mixed number: 17/5

Answer: ____________

11) Solve by factorising 
s2 - 11s + 10 = 0

Answer: ____________

12) Round 30.6475 to 3 decimal places.

Answer: ____________

13) Round 30.6475 to 3 decimal places.

Answer: ____________

14) Decrease 182 by 1/91

Answer: ____________

15)
17  Find Volume of 
               16       Cylinder 

Answer: ____________
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16) 4/
7 ÷ 2/6

Answer: ____________

17) Simplify 4:11

Answer: ____________

18) 25% of 27

Answer: ____________

19) 61/2 ÷ 65/6

Answer: ____________

20) 63/9 ÷ 67/10

Answer: ____________

Total: ___ / 20
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Answers:

1) 1.28 2) 21548.184010972 3) 17.86 4) 86 5) 16 6) j = -3 or -3 7) 12

8) 28 9) 5.18 10) 32/5 11) s = 10 or 1 12) 30.648 13) 30.648 14) 180

15) 13672.211228423 16) 15/7 17) 4 : 11 18) 6.75 19) 39/41 20) 190/201
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